


Bl =&

THEX Sy - TH - FRI - 50 W BFHAL B B G AT 4 | 2 (RS
B
= 1 96, 265, 031
TR E T
= 1 72, 150, 000
JEHI T
= 1 72, 150, 000
RH (=)
m3 20, 000 2,063 41, 260, 000
RH (=)
m3 5, 000 6,178 30, 890, 000
BRET
= 1 4,827, 393
TR
= 1 989, 417
WP R
m2 12, 100 81.77 989, 417
B ET AL
= 1 671, 008
BT BR AL
m2 10, 400 64. 52 671, 008
LENHEY
= 1 3, 166, 968
FIRERE
m2 39, 200 80. 79 3, 166, 968
PEAMLER T
= 1 6, 850, 800
7K L& 8
= 1 6, 850, 800
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Bl =&

THEX Sy - TH - FRI - 50 W BFHAL B B G AT 4 | 2 (RS
TRAALER
m3 400 10, 686 4, 274, 400
TE
m3 400 1,514 605, 600
el
m3 400 4,927 1,970, 800
iR
= 1 169, 245
& T A
= 1 169, 245
RIRTE R
m2 13,243 12.78 169, 245
Tl AR
= 1 2, 255, 194
FEARE T
= 1 2, 255, 194
PN 1,082 583.3 631, 130
o FAREET E
m2 2, 560 233.9 598, 784
VALt
m2 2, 560 400.5 1, 025, 280
MET
= 1 9, 058, 759
MET
= 1 9, 058, 759
MR
= 1 9, 058, 759
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Bl =&

THEX Sy - TH - FRI - 50 W BFHAL B B G AT & 2 (RS
% T
= 1 953, 640
THAEKT
= 1 953, 640
THEAEKEL
= 1 953, 640
BT
= 1 96, 265, 031
LR E
= 1 10, 220, 762
B ST TH g ¢
= 1 969, 741
Htre m
= 1 17, 215
15 5 i TE A R
= 1 17, 215
B ERRYGER (5 1)
= 1 952, 526
HimE s (FE L)
= 1 9,251, 021
Wi T
= 1 106, 485, 793
B A
= 1 29, 083, 281
IR ¥ Xi
= 1 135, 569, 074
— A
= 1 22, 280, 926
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Bl =&

THRXSy - THE - Fj - #05 B BHAL % & A EHUm & # T (GBS
THATis
#H 1 157, 850, 000
THEBLAE 2 %0
#H 1 15, 785, 000
THEEG
#H 1 173, 635, 000
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